

### **Tabulation Of Bids**

Event #: 278
Version: 6

Name: River Oaks Traffic Calming

**Description:** This project includes the implementation of a comprehensive set of traffic-calming measures aimed at addressing the issue of speeding within the River Oaks Neighborhood. These measures include:

•Installation of eighteen (18) speed cushions

•Installation of two (2) speed radar signs on SW 15th from SR 84 to SW 20th Street (optional).

•Installation of rumble strips at the intersection of SW 18th Ave and SW 24th Street. Installation Only (This is an Optional Item).

• Pavement marking plans to conform to Broward County Traffic Engineering Division (BCTED) specifications.

Drawing Plans: This Project consists of thirteen (13) Drawing sheets. Drawing plans may be obtained free of charge at the City's online strategic sourcing platform.

Licensing Requirements: Possession of a State of Florida General Contractor License, a Broward County General Contractor Certificate of Competency, or a 3A Major Roads (Asphalt and Concrete Paving for Interstate, Primary, Secondary, and Arterial Roadways and Airports and Work Incidental Thereto) is required for this Project.

**Event Currency: USD** 

Supplier Bid Amount

FG Construction LLC 179,772.02

2701 NW 55 Court Tamarac, FL 33309

#### Items

# Item: MOBILIZATION & DEMOBILIZATION

**Description:** MOBILIZATION & DEMOBILIZATION

Unit of LS Quantity: 1.0000

Measure:

lune 4, 2024 Page 1

QuantityUnit PriceExtended AmountFG Construction LLC1.00004,164.950000004,164.95

## Item: MAINTENANCE OF TRAFFIC

**Description:** MAINTENANCE OF TRAFFIC

Unit of LS Quantity: 1.0000

Measure:

 Quantity
 Unit Price
 Extended Amount

 FG Construction LLC
 1.0000
 7,526.37000000
 7,526.37

## Item: RUBBER SPEED CUSHIION

**Description:** RUBBER SPEED CUSHIION

Unit of EA Quantity: 18.0000

Measure:

 Quantity
 Unit Price
 Extended Amount

 FG Construction LLC
 18.0000
 1,874.22000000
 33,735.96

# Item: F&I SINGLE COLUMN GROUND SIGN AS

Description: F&I SINGLE COLUMN GROUND SIGN ASSEMBLY WITH GROUND MOUNT

Long Item FURNISH & INSTALL SINGLE COLUMN GROUND SIGN ASSEMBLY WITH GROUND MOUN T, LESS THAN 12SF

**Description:** 

Unit of EA Quantity: 23.0000

Measure:

QuantityUnit PriceExtended AmountFG Construction LLC23.00001,332.0000000030,636.00

# Item: \*\*RAISED PAVEMENT MARKER, TYPE B

**Description:** \*\*RAISED PAVEMENT MARKER, TYPE B

Long Item \*\*THIS IS AN OPTIONAL ITEM. THE CITY MAY CHOOSE TO INCLUDE OR NOT INCLUDE THIS LINE ITEM IN THE BASE

**Description:** BID TOTAL.

Description: BID TOTAL.

Unit of EA Quantity: 24.0000

Measure:

QuantityUnit PriceExtended AmountFG Construction LLC24.000016.18000000388.32

## Item: \*\*ENHANCED HIGHWAY SIGN ASSEMBLY

Description: \*\*ENHANCED HIGHWAY SIGN ASSEMBLY, SOLAR POWERED, F&I GROUND

Long Item \*\*THIS IS AN OPTIONAL ITEM. THE CITY MAY CHOOSE TO INCLUDE OR NOT INCLUDE THIS LINE ITEM IN THE BASE Description: BID TOTAL. ENHANCED HIGHWAY SIGN ASSEMBLY, SOLAR POWERED, F&I GROUND MOUNT, W/ BEACON UP TO

12SF OF STATIC SIGN.

Unit of EA Quantity: 2.0000

Measure:

 Quantity
 Unit Price
 Extended Amount

 FG Construction LLC
 2.0000
 35,691.53000000
 71,383.06

## Item: 6 INCH PROFILED THERMOPLASTIC

Description: 6 INCH PROFILED THERMOPLASTIC, STANDARD-ASPHALT SURFACES

Long Item PROFILED THERMOPLASTIC, STANDARD-ASPHALT SURFACES, YELLOW, SOLID 6"

**Description:** 

Unit of LF Quantity: 602.0000

Measure:

FG Construction LLCQuantityUnit PriceExtended Amount602.000038.7200000023,309.44

# Item: WHITE, SOLID FOR CROSSWALK AND R

\* \* This line has been cancelled \* \*

Description: WHITE, SOLID FOR CROSSWALK AND R

Long Item PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"

**Description:** 

Unit of LF Quantity: 605.0000

June 4, 2024

Page 3

Measure:

## Item: WHITE, SOLID FOR STOP LINE 24 IN

Description: WHITE, SOLID FOR STOP LINE OR CR 24 INCH

Long Item PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24 INCH

**Description:** 

Unit of LF Quantity: 45.0000

Measure:

	Quantity	Unit Price	Extended Amount
FG Construction LLC	45.0000	6.30000000	283.50

# Item: YELLOW, SOLID, 6 INCH PAINTED PA

Description: YELLOW, SOLID, 6 INCH PAINTED PAVEME

Long Item PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6 INCH

**Description:** 

Unit of LF Quantity: 201.0000

Measure:

	Quantity	Unit Price	Extended Amount
FG Construction LLC	201.0000	1.44000000	289.44

# Item: THERMOPLASTIC, STANDARD-OTHER SU

Description: THERMOPLASTIC, STANDARD-OTHER SU

Long Item THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6 INCH

**Description:** 

Unit of LF Quantity: 792.0000

Measure:

	Quantity	Unit Price	Extended Amount
FG Construction LLC	792.0000	5.04000000	3,991.68

# Item: THERMOPLASTIC, REMOVE EXISTING T

**Description:** THERMOPLASTIC, REMOVE EXISTING T

Long Item THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN

**Description:** 

Quantity: 490.0000 Unit of SF

Measure:

	Quantity	Unit Price	Extended Amount
FG Construction LLC	490.0000	6.95000000	3,405.50

## **Item: RUMBLE STRIPS**

**Description: RUMBLE STRIPS** 

Long Item Measurement for payment to install Rumble Strips pavement markings will be based upon the unit shown in the

Description: plans. Measurement shall be determined by measurement along and across the intersection as indicated on the

design drawings and specifications. (Make this optional)

**Quantity: 52.0000** Unit of LF

Measure:

<u> </u>	Quantity	Unit Price	Extended Amount
FG Construction LLC	52.0000	12.65000000	657.80

June 4, 2024 Page 5